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NOTE : l) AllQuestions are ComPul

RBF6 I6NFC

Economics Reasons PoverfY)

Social)

two months is a symptom of AIDS.
formulated in 1.974.

OR

of a group by stating what it is?

OR
of the constitution of India?

faced by Indian society?
OR

Seat No

MARKS :75

2) Numbers to the right full rnarks

3) If required refer English

Ql.a) Write the correct word in blank

1) Widow Remarriage Act
( 18s8 1856

2) According to
women and men.
(Article 20 Article 1

3) means a

paper

(Any eight)

passed this year
1857 1860)

clause equal treatment was given to all religions, castes, races,

Artiole 15 Article 21)
of individuals who come together to achieve a specific goal'

rights)
of harmony among various social groups in the country means

7&.17

bearers of municipal councils.
Member)

years who do mental and physical labor in any industry mines,

mlng Labour Mental Labour Adult Labour)

(Parry friend
4) Having a sense of

- 

yes.
(Social Integration ationallntegration Consolidation Politicalintegration)

5) Cram Panchayat has and maximum 

- 

members.
8&re)

08

01

15

15

(s & 15 3&,r3
- These are6)

e)

10)

Ql.b)

(Mayor
7) Children below

factories etc. are

fourteen
called

(Child labour

8) Population explosion is main cause of

State whether the fol statements are true or false (Any Seven)

language of India in 1965.

(Society Politics
India has the most cultural heritage.
(Modern Medieval, Ancient
'Deendayal Disabled Rehabilitation scheme'

Hindi became the nati
Cast systern is a great
The Indian people
Initially the Indian
India got Independence 15 August 1947

Tolerance means tol

has been launched by Govt.

of Hindu Society.
the Indian constitution on 26 November, 1949.

has 500 articles.

l)
2)
3)
4)
s)
6)
7)
8)
e)
0)

Loss of 10% body weight
The National child policy
A Major cause of for the elderly is their health.

The Zilla parishad
Panchayat.

a corporator to carry out the day-to-day operations of the Gram

SESQ2 A)

B)

Q3.A)

B)

Q4.A)

B)

Explain the

Explain the

Explain the

Explain the

salient

Explain in detail the cou of srnoking?

symptoms of addiction?

Social prob

Explain in detailthe of alcohol addiction?

15
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Q5. A) Explain in detail the problems of senior citizens?
OR

B) Write short notes. (AnY three)

l) Syrnptorns of AIDS
2) Purpose
3) Child labour
4) Important concepts in the constitution

5) Characteristics of Indian Culture

15

I



R:Q o 3T{I RBn6{(NFC

q. sd vqq grffi enBd
r. wrfr ffiSta erfr Wi U"r cqfkrrd

!rq=[ q. R+TEqr qrrn q]rq' eT< Fdr. (6}rr1}fr e+ra)

q. trtrff 5t'tr-qTe srerEr
(z,lu,c q zqq

:rr efi s-{rqTf, stTerr

q, z q\e q.zq")

Seat No.

:+rd \eq

v{{q 3T{Ii[rf,.

qr 60rrEqr{ +rd src, strer, *r, Rrqiqr a gwiar qFrgs'
tuqrd srrafi'.
(*og Ro s?tEI q,\e 6oq q\ s€q Rq,)

EEqi, e-+-dTqr sq5 +t * adrBs s,W qsr tfl.
(qq R'flre s+q')

y. Mo frGq qrqrG'm rTarf, qdqr, B-dr q+M qrFrq ersfr' r6ur+q

----- +q"
(qmrtrrq qs'riffin {r$q qsrffitrr Es*-tur {rs*tq
q*rrqrir)

q. Bqrq etiFr q-qro

o(,

o\9

(qqqq ?qq? \eett\e 4qq,3)
q. B flffi qqrErfrr0'erqcIrf,.

g-5pfu qtqqr sE€I TrRlq&T)
e. qfur+-fr sEq}-{T rsrufl, q-rcsrt rsr€-qtA rnrk+' e qffRftffi ryq s{unqr

+fl eq'fqr larel--o geT-rr Eaaa qrA
(qrisqE{ qrrr q{r rn'+Rq'qqt da -rW)

.. rit+@qr F€q;te B
(qqrq qqtrruul erflrf€ srcq qftffT)

q. elrcf,rol €qtil {ffiET qRsr ortror e+rB

(3ilgRfi qurgrfrq gr{.T egrpfi')
q o . {-+qqra e{qrl gr*q=T +qqr fr s{frrG g-€ ffi sflt

(**{ {rsq qflE-q BtI-{qTffi)

s'{T qq
?

?

.?.

Y.
(-

F1 .

v.

e

lar€fr"rr fuITi am +t qt-qr qrtfr t smr t*M-S qrol
q sqq wt Ffr 6' qr{-sr€fr {r${rsr ard'.
qrfr qqen ET F{ qrTTsIroI ffior qfu1 qnq erG.
qrrd-'iT q-{il Rq Nq{ qqyq ffi $nrfi-q qsTI ffi.
g€eTfrorrRdf-q qRfl;rtn qoot6-€ri ffi'.
tq erftr€ q3Y\s M .+rcoror qrcrq trrar$.
qftEJf,-r r6rri vc+qfrercfr +q.
+{ qtrq:d yr$11.-qr qqTFil \d/ . qa e}ft B gsq qr ffi oerur e+rB.

q,3zy qsA'{r$q ero ffi 6{m s{rqrf, 3Trd.
emqt<r+r qla+r rqrqrJqrc qrrsil Mrr ffi qtqrA 6rtq wur+q
rurqr eflt',.q'er qm- *q.
Trq\ffit q,ruFFIq qrq e"c€r sfNq, TrruM
+qg+. 6{4.

qo"

t ge mr<q' +nt.


